s 100 2023

lectwe 1O

Weds: Read 3.5 -3.6

%&; (lass: * Llaw e Inerhe
X Spezd,\lclaal-j Jaceel,
haw o lnorha

An QKOJ[/IPZ& o'p w[o:h’w.(ﬁ srm(o{g, Mohou 10 Phﬁgm would be  gn
object’ sl,‘gbng a{owg ¢ Fe;fgdf,j Foighenlpss ror'zoniz| suntace,,

/I"WﬂLd: EXpenMan s inwlu{/c% remps dees,
Mok’
allow one 1o rason ghadt Huls., L) fr—ﬁm_p_m

& -

DEMO:  |arha Ttwgm Exww_ Video

/Tbu's 15 on axom)ou_, 0-f~ e Lawo O)[ [nerha

If  there 15 00 oveall oxtonal influonce (ﬁOFce/l.n‘efad\on)

on  an Olol'th/ ther ol Objec} will move in a Shauglit
e witle  wonsiout S@Av

;EW i@ f@ *é} Ball leaves ashonaat
A

l,\} l \_y % e Ot"a““ exteoraal rnfluonce

=b SN au

t
Ashonaunt launches ball umj hayl \/W
2 hond iderads with, ball (Lau of laarka seys nouing) Lew of ke pplées




Noles :

l) Yhe Law o§; lnerhee  desoibes e //Pi“éfdwd“ or  “inherent”

Stale  of 1ok in classical Phﬁsfc\s.

”Pr'efeired“ MM e Moment: AT el monert
/Iln| tu %_.&- -‘(@2-'-_
' 300-‘\4,)1'\ 800 epl Some C.;Pzad
//Nal.ura)‘“

Same direchaq

2) In mony We’:jda;‘j sialions  Hewe  @e  hidden fores cncl
inWac‘\err {MS@ esult  aa dewabau .'F[;gm Some. s/zzgd /scrme

drechan
A+ one moment at & lhr momenl:
_ 0
Sl L
P “3 a (] L‘o‘_—_jp %GPT'ZGMZJ
S Mpk GMPLL

Tue exporahon is Kb cir angl frichac Poduce eflects oot
trd 1o slw He oloJ'ed:.

G 2
Speed

We nowo darclop measwable  gueasilios gl help to descnbe ok Tle
Lt or‘ Ines hex hepértd to gFgM{, An inhubue aolaa is

—_—

&SP&OK ~ e at  wolich objed'm‘;;;_SHE(;S;;&W”/

P

We need to convert Huis o o mattenahcal CQQM%'%L



Ohe Possibib«'g iy

\) observe ¥ ObJ‘t’d‘ et two inskuts

2,) record He hme e[apud he horeen g

ealier
b d«l‘SJDAfe‘}OI nsEnts
3) Mecswe He distunce Fraveled  behwan He

Wl | nstanls |

/rhen,ouer Lo 2nhe  inteval tHe
AStence  Fraveled

averaﬁe s’:—&ed =
‘HM@ elapged

Twis con he wribenas o forula

S = aveage c,./gu.d 4 ] Unit m s
+ =2 dime elepsed } =D S= = | meier =Mé
. ‘ Sewond

Adislence Naveled

Quizd §0% —as,

We wn e sPad ond e b ddeune  dislance R«zmw@%&e

Previous eq Ut 1ou. gives

d= 3xt

dislonce o meled = Speed. x howe elapscd

Tuis i exoutly e + e Sped 1S conskmt . Whea it 15 not, Hae
Footla. must be  modifed.




1 Hockey sliding with constant speed

A hockey puck will slide on an ice rink with nearly constant speed. A puck is hit from one
goal and travels 50 m toward the other goal in 1.25s.

a) Determine the speed of the puck.

b) Suppose that instead of reaching the other goal, the puck is intercepted by another
player 0.80s after it has been hit. Determine how far the puck traveled in this case.
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